Year 6: Order of calculating (pg 3)

Maths worksheets from mathsblog.co.uk

What is the value of:

1.44+3Bx6) = 25+5)x3 =
36+ DHx8 = 43+@3Bx3) =

Work out the value of:

5. (4+4)+4-2) = [j 6 (6+3)-(3x3)= [j
7(4x2D+Q2-1)= C] 8 (4+2)x(8-5)= C]
0.(A-5)x (3 +2) = C] 10.Q-2)x@-2) = D

In these expressions the brackets are missing. Put the brackets in to
make them true statements.

11.9-1x7 =56 12.40-10x2 =20

13.6-8:2=2 14.50-8+2=21
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Answers
.22 2.30 356 412
5. 10 6.0 7.9 818
q. 20 10. 42
11.(A-1Dx7=56 12.40-(10x2) =20
13.6-8+2)=2 14.(50 - 8) + 2 =21

Lots more like this on the MathSphere, ‘It’s All Figured Out’ worksheet CD www.mathsphere.co.uk
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